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Arrange the following numbers in ascending order.
3241 , 2413 |, 3421 , 2431

(1) 2413, 2431, 3241, 3421

(2) 2413, 2431, 3421, 3241

(3)  3421,3241, 2413,2431

(4) 3421, 3241, 2431,2413

Round off 4.746 to 2 decimal places.

(1) 470
@) 474
(3) 475
@) 480

How many common factors are there between 12 and 187

(y 1
2y 2
(3 3
(4) 4






A group of children aifended a pairty. The ratic of the number of boys
to the number of girls was 5 : 3. What fraction of the total number of
children were giris?

O
8
@ 3
8
@ 3
3
@ 32
5

Find the value of $1008.72 - 9.

(1) $12.08
() $12.80

(3) $112.08
4 $112.80






12

13

Simplify 11p+3px 2+ 5.

(M
(2)
&)
{4)

32p
S8p
17p+5

28p+5

The pie chart below shows the types of cupcakes sold by a bakery.

2% strawberry
chocolate N
blueberry
30%
vaniila

A total of 165 vanilla and strawbenry cupcakes were sold. How many
blueberry cupcakes were sold? :

M
@
@)
“4)

30

55

66

300






Name: ( ) Class:Pr&( )

PG Prelim 2014

PAPER 1 (BOOKLET B)

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated.
(10 marks)

16 Express 17 kg and 50 grams in kg.

Ans kg

17 Find the value of 1~§- + 2%..

Ans:







21 Find the value of 498 X 6.

Ans:

22 Kumar started doing his homework at 2.55 p.m. and finished only at
4.15 pm. How long did he spend doing his homework?

Ans: h min

23 Which digit in 231.405 is in the hundredths place?

10






Questions 26 to 30 carry 2 marks each. Show your working clearly in the
space provided for each question and write your answers in the spaces
provided. For questions which require units, give your answers in the unifs

staled. )
{10 marks)

26  The figure below shows rectangle ABCD and 3 shaded friangles. The-
total area of the shaded partsis 300 cm®. Given that AB // EF // DC

‘and BC is 10 cm, find AB.

Ans: cm

12






29

The table below shows Weiwei's marks for 4 subjects. Part of the table
is covered with ink.  She scored 10 more marks in Mathematics than in
Science. How many marks did she score in Mathematics?

Subject Marks
English 75
Mathematics
Science
Chinese 84
Total 310
Ans:

30

The capacity of Cylinder A is —23- the capacity of Cylinder B. Both
cylinders are filled to the brim with a mixture of water and oil. -% of the

mixture in Cylinder A is oil and % of the mixture in Cylinder B is oil.

What fraction of the total mixture in Cylinder A and Cylinder B is oil?

Ans:

END OF PAPER

14






PAPER 2

Questions 1 to 5 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

{10 marks)

1 The figure below shows a cube. The total length of all the edges of the’
cube is 156 cm. Find the area of the shaded face.

Ans: cm

2 Jerome had 40 marbles. He bought ancther 10 marbles. What is the
percentage increase in the number of marbles?

Ans: %







4 The average mass of 6 pupils was 40 kg. The average mass of the
first 4 pupils was 12 kg more than the average mass of the remaining 2
pupils. Find the average mass of the remaining 2 pupils.

Ans: ‘ kg
5 There was a total of 138 adults standing in a queue for parade tickets.

There were 5 men standing between every 2 women. What was the
least possible number of women in the queue?







There were 42 people at a party.. 8 of them were men and 15 of them
were women. The number of women was thrice the number of girls
and the remaining were boys. How many males were there at the

party?

Ans: [3]

A van and a car starfed travelling from Town X to Town Y at the same

time. After 5 hours, the car reached Town Y while the van covered
only % of the journey. The speed of the van was 21 km/h less than

the speed of the car. Find the speed of the van.

Ans: ' 3]
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Number of

cars sold

The graph below shows the number of cars sold from July fo
December.
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(@) Find the percentage decrease in sales from November io
December, correct your answer fo 1 decimal place.

{b) [n which month(s) was the number of cars sold .more than
the average number of cars sold from July to December?

Ans: (a) 2]

(b) | 2







13 Yusof had $576 more than Suhailah at fist After Yusof spent % of

his money and Suhailah spent -;—36 of her money, Yusof had $37.40

more than Suhailah. How much did Suhailah have at first?

Ans: (4]







15

Study the following pattern.

Row 1.

Row 27
‘Row 3
Row4]| .
Row 5

Column

Column

Column

[ R oV

Row6] ... .-

(@) In which column will the number 80 appear?

(b} What number will appear in Row 89 Column D?

Ans:

(@)
(b)

Column

Column
G

4'

11

(2

[2]

11







17

The ratio of the number of fwenty-cent coins fo the number of fifty-cent
coins in-a hox was 5 : 3. 60 twenfy-cent coins were taken out and
exchanged for fifty-cent coins of equal value. The money was then put
back into the box. The ratio of the number of twenty-cent coins {o the
number of fifty-cent coins became 1 : 3. How much money was there
in the box?

Ans: i5]

13
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Al B[ Q6 a7 ]| Qo

Q101Q11 | Q12 | Q13| Q14| Q15
4 1 1 3 4 4 2 2 3 1 3 3 1 2 4
16)17.05 kg 17)4s/12 18)85° 19)2.5 m/s 20)20
21)33366 22)1 h20min  23)0 | Z ] T
7 |
25)23v4 26)60 cm 7\
27): 28)(2m+7) years old . |7
)'1 )J(2m+7) years o g} T
2 i

1) P
i

29)80 30)7/10







8)G>15+3 =5
Females>15 + 5 = 20
Males>42-—-20 = 22

9)3/10 journey>21 km/h x 5 = 105 km
1/10 journey->35 km
7/10 journey->245 km
Speed of van>245 km/ 5h->49km/h

10)(12 x 6) + 26 = 98
225498 = 23
23 x 3 =69

11)a)41.8%
b)October and November

12) Z/CGI>(180 — 78) +2 = 51
£ZCGD->90 — 51 = 39
/DGF>360 ~ 92— 51 — 51 — 39 = 127
ZGFE>180 — 127 = 53
ZCGD is 39°
£ GFE is 53°

13)6u + 172.80 = 7u + 37.40
1u->135.40
135.40 x 20 = $2708

14)1200-20+-10=06
19200+ (20x10)+(30x20) = 24
24 4+ 6 =30 cm

15)a)column F
b)99 — 1 =98
982 =49
49 x7 =343
343 +2 =345

16)2 hours—->120 min
1204 =30
7930 — 4080 = 3850
38§0 x 100% = 3850
7930 793
~48.55%



17)5u— 60 = 1p
15u— 180 = 3p
3u+ 24 =3p
12u~>204
1u>17
(17 x 5 x 20¢) + (3x17X
=$%$17 + $25.50
= $42.50

18)12 x 12 x Va x T = 3611
2A>36T1+2 = 1811
B->(1811 - 36)

(3671~ 72) + (1811 - 36)

50¢)

~ 61.65cmz
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